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H4X

8 32 om
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gl?l:
=& 19 cm
%

2 kg
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16 41 om

T 42 cm

gl?l:
=& 51 cm
=

2 kg
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H4X

18 45 om

b

16 om

X 48 cm
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i
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10 kg
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18 48 om

T 35 cm

gl?l:
=& 63 cm
=

5 kg
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g2
TSAFVIFTAS
(&)

¥8 50 cm

T 44 cm

gl?l:
=& 68 cm
%

5 kg

& =~No.
Q—28

R
T—IL(R)




i@ 22 cm

T 50 cm

;ilc
B5& 143 cm
=

3 kg

8 34 cm

T 35 cm

;ilc
B 35 cm
%

1 kg

g 45 cm

T 30 cm

;ilc
B 32 cm
%

3 kg
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L
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g 28 cm

1T 24 cm

gﬂ:
BEE 75 cm
%

1 kg
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F—=T I (R—=Ta)

iE 80 cm

T 50 cm

gﬂ:
BEE 70 cm
=

7 kg
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8 39 cm

T 74 cm

gﬂ:
BEE 45 cm
=

5 kg




Q—47
i
Zv7(8)
HAX

i 64 cm

T 22 cm

g'le'lc
B 49 cm
=

4 kg

B RNo.
Q—49

e
T—IL(F)




